H & 0l & AHS B Ml A

SN BEOIAD
HE: DMASO0IRINHI A
CHol: AlRISPlsnIRARY GRS
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
ZE0121 1t 3,298,711 3,365,172 AT1,461
= 718,720 707,736 5,984
= 73,273 73,273 0
Al 2,506,718 2,584,163 ATT,445
DHASOIR A AS A 633,013 614,850 18,163
= 91,857 91,85 1
Al 541,156 522,99 18,162
NEIEEEEERETS 288,233 270,29 17,940
NEEESIEEE 208,883 190,948 17,940
406 RHAHE S| 45,930 27,990 17,940
01 XU 2EF S| 45,930 27,99 17,940
OSIgHel SNt EHE 2T 7Y 17,940 0 17,940
A, S QIR 2g 344,780 344,557 223
= 91,857 91,85 1
Al 252,923 252,701 022
20I(SE)oIAE)| 2 229,158 227,838 1,320
201 LBr2 | 109, 158 107,838 1,320
° ZB2YH| 40,104 38,784 1,320
ORIALZI| HII23(8H4) 7,200 5,880 1,320
IIEBHS=ARAL! ZHIXR 89,117 89,116 1
=2 89,117 89,116 1
201 LBr2 | 84,541 84,540 1
= 84,541 84,540 1
01 AR 22| 83,841 84,540 69
ON=RAHSE M2 6,934 6,933 1
= 6,934 6,933 1
OIN=RHSZYR FHIRK 24 4,300 5,000 ATO0
= 4,300 5,000 ATO0
® ZB2YH| 700 0 700
OJEBHS=ALHEIE EHHSSA
23 40,0002 %1 CH+52 200 0 200
= 200 0 200
OJIEBHSEYR SEHLERI 500 0 500
= 500 0 500
IIEBAHSE NHIA X 22,565 23,663 A1,008
101 Q1218 21,3% 22,423 A1,008
M OIIRIH22ISES 21,3% 22,423 A1,008
OIN=RAHSZLR JI2H 2= 21,3% 22,423 A1,008
SIEE 21,325 22,423 ~1,08
A= gy 2 2,565,622 2,645,246 189,624
= 576,208 570,225 5,983
< 73,273 73,273 0
Al 1,906, 141 2,001,748 195,607




2A:

X XH -
o=

oelr ANEZES 2 MAkst EER=E)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz

NEEE5 & Hbtgt 2,004,748 2,172,942 NT78,1%

= 576,208 570,225 5,983

< 26,076 26,076 0

Al 1,492,464 1,576,641 N84T

INESF=E SR = NSRS 58,640 62,817 AT

201 2Bt ] 37,320 39,737 N2,417

2 s3234| 18,000 20,417 N2,417

OMHEEEEEZ(EXI0 ol &

NEESLUE ZAH 180,000 3 540 1,260 NT20
OXIHEel RBRs & 1,000 1,500 A500
ORSUZTESRAILE MHSKIE=H] 16,460 17,657 A1,197

0AZENAH RXIE=H]

912,250 12 10,947 12,144 AT1197

207 ARl 20,240 22,000 A1,760

02 HADHZHI 20,240 22,000 A1,760

OXNHSFA= Hitg Z9Hl) 20,240 22,000 A1,760
ONH=E 22Uk

5,0008 +2, 138% 10,690 12,450 A1,760

KIZTHZEALARS 1,041,932 1,121,932 80,000

301 LetE2NS 980,000 1,060,000 80,000

BIIE2d= 980,000 1,060,000 80,000

OXNHTHEAAY 283 980,000 1,060,000 80,000

NETHEAIAIY =& 502,030 496,047 5,983

= 502,030 496,047 5,983

201 Let2d| 30,219 29,751 468

= 30,219 29,751 468

01 AlR2telHl 30,219 29,751 468

OXIHTHZAAIE JIEE 25 9,313 9,130 183

= 9,313 9,130 183

OXIHTHZAIAIE 22 20,906 20,621 285

= 20,906 20,621 285

308 XXM SOIA 468,811 463,2% 5,515

= 468,811 463,29 5,515

N So2SH U2 4 468,811 463,2% 5,515

OXIHTHZAIALY =&k 468,811 463,2% 5,515

= 468,811 463,2% 5,515

£2% 20 A 460,874 472,304 A11,430

= 47,197 47,197 0

Al 413,677 425,107 A11,430

ANEZS ZAH/EA BR= 70,000 81,430 A11,430

201 Let2d| 70,000 81,430 A11,430

02 33234l 70,000 81,430 A11,430

OGISMHIFXI2==HI (A 2 HN/SW) 70,000 81,430 A11,430
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